History 12 The Rise of Russian Communism

Lesson 5: The Rise of Joseph Stalin


	Purpose: To understand how Stalin was able to gain and maintain control of Russian society


Gaining Control
Lenin established a setting in which the leader of the Soviet Union had complete power. Explain.

	The Constituent Assembly
	The Cheka
	War Communism

	
	
	


This campaign to stamp out opponents was continued after the Civil War as the new revamped secret police, now called OGPU, continued to arrest members of the Mensheviks and SRs with no restraint.

The framework set up by Lenin would be exploited by Stalin as he made his rise to the top of the party.

The Events of Stalin’s Rise

· Lenin became increasingly ill, and was no longer able to exert his control over the government

· Stalin was appointed General Secretary of the Party in 1922. How did this give him power?
	


· Lenin did not regard Stalin as a suitable successor, and favoured Trotsky instead. Find details.

	


Stalin and Trotsky not only had different backgrounds, but also had very different ideas about what the future of the Soviet Union would look like.

	Leader
	Stalin
	Trotsky

	Background 

	
	

	Party History


	
	

	Beliefs about Communism
	
	


· Stalin faced the difficult task of convincing the Party to disregard the recommendations of Lenin. He used the influence of two men to help him with this: Kamenov and Zinoviev, both of whom were opposed to Trotsky’s ideals. Together they were able to conceal Lenin’s recommendations, have Trotsky removed from his post as Commissar of War in 1925, and fill the Central Committee with pro-Stalin members. Trotsky would later be expelled from the party (1926) forced into exile (1927), and murdered in Mexico by a Soviet agent (1940). 

· Once Stalin no longer needed Kamenov and Zinoviev, he schemed with Bukharin to have them removed from the party. Once they were gone, he turned on Bukharin, expelling him thereby gaining total control of the Central Committee by 1929. 
· The concept of international Socialism died when Comintern, a Russian organization with the goal of encouraging Socialist movements outside of Russia, lost most of its support due to Stalin’s Socialism in one country beliefs.
· Stalin thus used a series of relationships and betrayals to gain total control of the Central Committee. He would next take steps to maintain that control by eliminating all political opponents from both the Central Committee and the Soviet military. 
Maintaining Control: The Purges

· The Kulaks are an example of a group that opposed Stalin and faced the consequences. Explain.

	


· Stalin next turned his focus to past and present political opponents in the Central Committee. Anyone who had been close to Lenin or had gained popularity in the Party was at risk. Often these people would be exposed to show trials in which they would confess to crimes against the Soviet Union. Give examples below.
	


· In the end, of the 15 members of the original Central committee, 11 were killed, 4 had died of natural causes, and only Stalin remained. 

· Stalin next purged all of his perceived enemies from the military. Give details below.

	


· How did these latter purges negatively affect the Soviet Union in the early stages of WWII?

	


Critical Thinking Activity
· Considering Stalin’s methods of taking power and his economic policies, to what extent was Stalinist Russia a Communist state?

	


